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East Los Angeles College
Department of Mathematics

Math 125
Test 1

Let A={0,24,6} B={135} C={a,b,c 123} D={01,234,5,678,9}
E ={a,e,i,o, u}
Determine the following operations with the indicated sets.

1) BUD 2) BnD

3) AVE 4 ANnE

5)Cu® 6)CNY

Solve and graph the following compound inequalities.
NNx—8<-120r-x+7<3 8)3x <—15and —2x -4 > -8
9)4x—-1=27o0orx—6< -2 10)5x > —10andx+3 > 9
11)-3<4x+5<9 12)%35x—7$13

Solve the following absolute value equations and write your answers in set
notation.

13) |x] —12 =18 14) 3|x|+ 7 =19

15) |x — 6| +8 =4 16) —4|x+ 2|+ 11 =3

Solve and graph the following linear inequalities.
17)|x — 5| <3 18) 2|x + 4| = 10

19) |3x| =5 < 7 20) 4|x — 1| > 20

Write your solutions in interval notation
21) Problem 7 22) Problem 8

23) Problem 17 24) Problem 18




Write solutions in set notation
25) Problem 7 26) Problem 8

27) Problem 17 28) Problem 18

29) What is your name?



mab |28 Tegt |

B v D

DETTHAT DI

~ { ‘)3)5_1 04‘02') 2l q“"l

. IRo nE3 NS

) Bawp

235y hann1 2. ™

R

@) AUg

{0;11 d‘QB J {q,e, o0 e

oL 4 &, a8 opm

———

@#ae = {3 (@

pc\)g

Sabh e bt 25U ‘Hq he L% 34

L)@ :@_l







2
¥ SN
AW k\‘
ﬁo) S 2=10. el X+d 2 @
) g —é G 2 —

SRR
» . (\) ‘:_&AA—‘* R, o
©

o B © L~

i O

(u s a8 e G
b e = ———
P SCeiAk oAb W R e L \

(—-2 R o L

A A

b o




Q-);) o Rt oy ¢ —
o i SN <
[ = Sk a0
- S E \ -l
fi2 2o Sl ) et
N s
af "Ikl ncs g o e
3 % TiE L0/ \i‘_L/O‘\
Ie| = 20 A ol
A% <105 |
('ll‘i:) 5])6"1”4 =1q R e et U
i -¥ -3 fema. b De==4
: b SR
BI\‘:[ = |2 —
T J 4,435 1
x| = 4
(5 heCl 5 =l
ot~ i 7
[=cl =0

 an——————







L) T

£84D
P3e 2 (2 \ KAAJA_.)._p___\fr
\ A—— .——\1\_ B J il
w (). & o% L ik - £
Y AR =
P e TR
\ /
e B T e e -
| S
[t > S e

 ———

e SO ) Nof b

Sadl ik el = e i
S e :
(K>l°) (\< z_——‘l»/
\_/ \_/

l(:'/] Cokoned (O Gl €O )

(Z?;) L= "31

=] _Cx o7 (e) c=,-97 V0, 0)




